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Guess Paper – 2011
Class –XII
 Subject – Mathematics(Calculus)
Section A
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1. If f(x) =
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, is continuous in the interval        [-1, 1] then p=?

2. If y= ax
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y”=?
3. Function f(x) =sin (2x+
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) is decreasing in the interval:

4. The approximate value of 66
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5. Discuss the applicability of Rolle’s Theorem on the function 

f(x) =x
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+1  when 0
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3-x     when 1<x
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6. Prove that the radius of the right circular cylinder of the greatest    curved surface area which can be inscribed in a given cone is half of that of the cone.

7. Find a point on the curve y=(x-3)
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, where the tangent is parallel to the line joining (4, 1) and (3, 0).

8. A man 2mts high walks at a uniform speed of 6m/min away from the lamp post 5 m high. Find the rate at which the length of his shadow increases. 

Section C 







6X5= 30 marks

9. a) If x
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y
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=(x+y)
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    b)Differentiate tan
[image: image15.wmf]1

-



[image: image16.wmf]2

2

2

2

1

1

1

1

x

x

x

x

-

+

+

-

-

+

with respect to cos
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10. a) Find the interval in which the function f(x)=x
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-6x
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+9x+15 is increasing and decreasing.
      b) Find the equation of the tangent to the curve y=
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x

-2 which is parallel to the line 4x-2y+3=0 and also find the equation of the normal to the curve.

11. A point on the hypotenuse of right triangle is at distance a and b from the sides of the triangle. Show that the minimum length of the hypotenuse is (a
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12. a) If f(x) =
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0 is continuous at x=0 then find f(0).

b) Show that the function f(x) = xsin
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                                                0, when x=0

is continuous but not differentiable at x=0.
13.a) Verify Rolle’s theorem for the function f(x) = (x-a)
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(x-b)
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 on the interval [a,b],where m and n are positive integer.
13. b) Verify L.M.V.T for the function f(x) = log
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x,in the interval [1,2].
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